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[R1.6.30IR7E 11 TEHT & (K=F) Al F oI A O HHR (S5

TBET (KF)3—K TEET(KF)4 HEH o) 1 2 3
10 HAT 137 1 2 3 2
20 FELET 149 3 2 2 2
30 @7 239 5 1 3 3
40 SRET 114 0 0 1 1
50 KET—T B 311 3 1 2 2
60 KET=TH 222 5 4 4 10
70 AET=TH 283 2 6 4 1
80 ¥ATIHET 33 0 0 0 0
90 FEHATIRAT 194 2 2 1 2

100 dt D HLET 114 1 0 2 2
110 T HT 1085 25 23 21 20
120 #;TAHT 217 8 6 5 7
130 #&FHT 339 1 3 4 6
140 EAERT 22 0 0 0 0
150 & FFrHET 321 8 7 10 7
9999 K FRXET 3780 64 57 62 65
510 RETIHT B 400 2 4 5 4
520 HEEEHT 125 1 3 3 1
530 /\T&HET 231 1 1 4 1
540 15 =EHT 395 2 3 3 6
550 $TithET 345 3 4 3 3
560 =ZEMT 98 2 1 0 1
570 EEHT 57 0 1 2 0
580 ¥TEAHET 144 1 4 0 5
590 ¥ ;EHT 76 0 0 0 0
600 ZEi7HT 530 7 5 9 10
610 FHT 195 1 2 1 3
620 FEBET—T B 2 0 0 0 0
9999 /\ & X5t 2598 20 28 30 34
1010 3 A HT 166 2 0 3 1
1020 £ FHT 274 8 4 6 12
1030 & A HT 268 5 3 7 5
1040 75/ HT 437 12 12 7 19
1050 = HHET 542 8 7 13 11
1060 F _EHT 450 13 14 18 9
1070 #y[R=HET 621 13 12 6 13
1080 & HHET 349 6 17 8 7
1090 BHiEHT 545 12 16 7 18
1100 £ BHEHT 486 15 17 7 9
1110 f21EHT 162 3 5 2 6
1120 $21E JTHT 81 1 1 0 0
1130 +4&HT 27 0 0 2 1
1140 FkJRHET 14 0 0 1 0
1150 F/RET—T B 186 5 2 4 6
1160 F/RETZ=T B 227 2 3 2 1
1170 ;&K HET 174 1 2 1 1
1180 EE&FLHET 215 2 4 5 3
1190 #&FAHT 167 2 8 3 4
1200 XFHET—TH 125 0 2 0 1
1210 XFHEIZTH 183 2 2 3 2
1220 FrHT 145 2 0 1 0
1230 #xHET 157 1 1 3 3
1240 B EHT 136 0 3 3 3
1250 fEEIMT 151 3 3 3 2

N

(2]

—_

w
OO O NN DD O OO WNOMNOWDMNMOOUIO = NJNONOON—-—ONOO = = =~ =5,

—_ —_ - - —_
G N A JOO

WPAhOOD—=WNNAENOO-=—=

N

—_ [ G G G — Y w (>}
TN ©O OO U1 O JdOO P WOOUITUIOW—==0CWNDMNOOOODOWOOWW—="=WOOoPANO—=—=O O

—_
~N B

- NhAh-=OMNMNNMNLOLCO,~LL—~O=—=

w

o0}

N
O = NI I PDPDOOONOCO OO PAPPAPANWW—LJOOOOOWNOWOL = =01~ O0O®

—_

O WWOPLR, - WWNWNOOOONDNMNDNDNWOO©

—y

WNOPRLR-=-N-""DIBBENOUN-"O0OWONIUINOOOCOUUP,A~AOOOWN—- =0 - DPOOMNDMNOOLOWO -, OWAN-—-DDOGW-

—_

»
O WOWOWOO 0P~ JAaOPL,WAOO -~ WOOONDIMOOUONO—=O0OON 0

—_

NWWWWNNPAEW—ALNOOO WO O

—_ -

— —
WNOOSOBDBANWMNMNOWRER—-LO = PBNOOUIOOOO =0 JOWONNDMNON—-OWOUIWWNOUUMNOOOWMNNMNMNWOOOGUGIW - WOoOoIN ©



XH24.7 9F RERBIRED—IHREICIYNEANZEHAO - HFEK
[R1.6.30IR7E 11 TEHT & (K=F) Al F oI A O HHR (S5

TBET (KF)3—K TEET(KF)4 HEH o) 1 2 3 4 5 6 7 8 9
1260 fEH & 49 1 2 0 1 0 1 0 0 0 0
1270 EEHT 158 3 3 0 3 0 2 0 0 1 0
1280 R4 HT 149 0 1 0 1 1 4 1 2 4 0
1290 £RHT 186 1 3 3 6 0 4 5 2 1 0
1300 % ZEHT 137 2 1 1 3 2 1 3 3 1 2
1310 RJLHT 76 1 1 1 1 2 1 0 1 0 1
9999 XH X ET 7043 126 149 120 152 136 159 132 128 129 117
1510 B4 BT 646 5 10 13 13 16 10 12 12 21 24
1520 HEHITET 627 8 10 7 9 9 10 11 8 10 12
1530 HEHITHT 318 5 7 9 7 4 10 4 6 7 4
1540 K{23FHT 515 7 8 6 7 8 10 10 6 7 10
9999 HEMMRE X ET 2106 25 35 35 36 37 40 37 32 45 50
2010 £ ERAT 194 2 6 3 6 2 4 4 6 3 6
2020 %= E7aHET 296 4 9 11 10 8 8 8 10 6 6
2030 ;AT 19 0 0 0 0 0 1 0 0 0 0
2040 JET—TH 189 0 2 0 1 1 3 4 5 3 4
2050 ;ET=T H 190 1 1 1 3 3 2 2 4 1 3
2060 ¥5HH 36 0 0 1 0 0 0 1 0 0 0
2070 +RET—TH 221 4 3 8 9 5 6 3 3 4 1
2080 +ETZTH 192 1 1 4 2 1 7 3 4 2 2
2090 AT 1625 16 19 14 21 27 26 17 32 40 27
2100 dr 4L HT 215 5 7 8 4 6 9 7 2 7 4
2110 }EWIETET—T B 198 1 3 4 5 5 7 3 2 4 3
2120 {ENNEBT =T B 226 4 5 4 3 7 7 7 7 7 7
9999 E B XET 3601 38 56 58 64 65 80 59 75 77 63
2510 #AUEET 1859 34 31 45 46 34 54 45 61 56 61
2520 sk EEHT 1114 22 44 30 38 31 39 33 36 24 4
2530 & /NRHET 316 8 4 9 8 2 10 4 5 5 5
2540 Fi5HET 424 6 7 5 5 7 7 6 7 2 6
2550 ;T 209 2 5 0 3 1 8 5 6 5 5
2560 = ST 850 7 20 16 7 15 17 10 16 25 12
2570 KEHT 85 0 1 2 0 1 1 2 3 0 0
9999 WS XET 4857 79 112 107 107 91 136 105 134 117 130
3010 K#IHT 907 13 22 22 13 14 15 14 18 21 23
3020 gL iIHT 851 15 12 16 32 15 15 16 13 18 11
3030 - EFHT 690 9 15 17 21 13 18 9 14 14 17
3040 A LHET 139 1 1 0 1 2 1 1 2 1 1
3050 R HRET 1850 48 68 62 51 53 46 40 44 50 45
3060 B THET 448 3 4 4 6 4 7 8 6 5 5
3070 HEAEAT 420 3 3 3 6 6 8 7 7 9 6
3080 H AT 378 6 11 10 19 14 17 16 16 18 15
3090 HHEHT 377 16 6 12 9 17 12 11 12 14 14
3100 H R FEHET 509 18 15 12 10 9 13 9 8 6 5
3110 EHAILHET 410 5 6 7 1 8 2 7 3 5 8
9999 J\FiE#&XEt 6979 137 163 165 179 155 154 138 143 161 150
3510 2R LHT 172 3 0 2 3 2 1 5 1 3 0
3520 & R T 345 6 4 9 2 4 10 3 5 3 3
3530 &R THT 897 15 14 25 28 19 19 30 12 20 18
3540 Z= B KHT 329 5 2 2 2 5 2 8 5 7 8
3550 A EFHT 730 13 10 12 6 14 12 13 15 16 9
3560 = T B HET 266 3 1 0 2 1 3 8 3 6 3
3570 = T FaMT 785 18 14 19 16 15 11 11 7 7 7
3580 FLIFTHT 534 6 12 8 7 10 6 7 10 10 7
3590 JEMT 16 0 0 1 0 0 0 0 0 0 0
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4030 5HT 202 5 1 4 3
4040 S HEAHT 178 4 1 4 2
4050 7K EHT 379 4 1 7 4
4060 ES & HHET 323 7 0 8 8
4070 Jt/RHET 147 2 5 3 3
4080 =;T;HAMT 165 3 1 5 4
4090 FRERHT 267 4 4 6 3
4100 Fg<FEFOET 101 4 2 2 3
4110 b FFn@T 113 1 3 2 4
9999 &M X5 2251 35 1 44 7
4510 AREE—ZHT 675 7 4 4 7
4520 EREE — ZEHT 147 1 1 1 4
4530 EREE=FEHT 152 0 3 3 6
4540 EREEIUZEHET 138 2 2 1 1
4550 EREE L FHT 97 1 0 2 2
4560 AR EENEEHET 61 2 2 2 0
4570 EREE-HFHET 124 0 0 0 0
4580 EREE)\ZHET 68 1 0 1 2
4590 EREE N FEHT 126 0 3 1 1
4600 EREE-+ZEHET 191 1 2 1 4
4610 EREE+—ZFHET 170 3 2 2 1
4620 EREE+ —ZEHT 289 8 5 7 4
9999 ERERXET 2238 26 24 25 32
5010 FAFNHE HEHT 165 2 5 5 1
5020 HAF0BAEMET 170 1 2 2 0
5030 FRFNRI{ZHT 183 2 2 2 2
9999 MAFIRXET 518 5 9 9 3
5510 b R AT 207 1 1 0 2
5520 = HhHET 545 10 9 11 7
5530 78 '= M7 458 6 6 6 9
5540 THZEHT 223 2 1 7 2
5550 EEHT 70 1 0 1 1
9999 =R X 5t 1503 20 17 25 21
6010 FEIAT/ME& 84 0 0 1 1
6020 [z ET 5 87 2 1 0 1
6030 RGBT A I 82 1 0 1 1
6040 EizZEFHET 182 2 1 3 2
6050 JI|AMBTE 133 0 1 2 1
6060 JI|EHATFE 97 1 2 1 3
9999 FEERXET 665 6 5 8 9
6510 B &= A#HBHET 21 1 0 1 0
6520 HZEAKIEHET 166 1 2 2 0
6530 HE AFTHHET 100 0 1 0 1
6540 HZEAILTHT 158 0 0 0 1
6550 B =AM Z NHET 88 1 0 1 1
6560 HZEAEILHET 134 2 0 1 0
6570 B E ALERIHET 150 0 0 1 1
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6600 B &= AHHT 89 0 1 1 1
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TBET (KF)3—K TEET(KF)4 HEH o) 1 2 3 4 5 6
6620 HZE A FHHET 53 0 0 0 2 1 2 0
6630 HEATFGHET 103 0 1 0 1 1 1 1
6640 B & A BT 38 0 0 0 1 0 0 0
6650 B &= ASRHET 2 0 0 0 0 0 0 0
6660 H Z A RLHET 50 0 0 0 0 0 0 0
9999 HEAKKET 1352 6 8 9 9 11 8 7
7010 Z RIMOHT 143 1 1 0 1 0 3 0
7020 — R AHT 275 3 2 2 3 2 4 3
7030 — R FRHNET 99 1 1 0 0 1 1 0
7040 — R T KEFHET 194 0 1 1 0 1 0 0
7050 — R ¥7 H I HET 92 2 0 2 0 1 1 2
9999 — R&XEtT 803 7 5 5 4 5 9 5
8011 JRAHTFEERL 62 0 0 0 0 0 0 0
8012 YR AHTFEERA 113 0 1 1 0 2 0 0
8013 IRAHTFERIL 70 1 0 0 1 0 1 1
8021 HRAHTZEKLY 80 1 0 0 1 0 0 1
8022 IR AHTIEKA 7 0 0 0 0 0 0 0
8023 R AHETEKIE 8 0 0 0 0 0 0 0
8031 IRAHTH ALY 154 1 2 1 1 1 1 1
8032 FABTHAA 9 0 0 0 0 0 0 1
8033 IRAHBTH AL 19 0 0 0 0 0 0 0
8041 YR AHETHELIFL 66 0 0 0 0 0 0 1
8042 IR AHTELIRA 32 0 0 0 0 0 0 0
8043 R AHET LRI 19 1 0 0 0 0 0 0
8044 IR AHTELIRIZ 27 0 0 0 0 0 0 0
8045 IR ABTELIF T 48 0 0 0 0 0 0 0
8050 IR AHT A 173 1 1 0 0 0 1 1
8060 IR AHTFT# 129 0 2 1 0 1 1 1
8070 IJRABTER 151 0 1 1 0 0 0 1
8080 Ir AHT &k 51 0 0 0 0 1 0 1
8090 IR AHT HiEE 49 0 0 0 0 0 1 0
8100 JRAHETH /1% 24 0 0 0 0 0 0 0
8110 IRAHTJI| 5 49 0 1 0 0 0 0 0
8120 IR AHTEE"S 78 0 0 0 0 0 0 0
8130 3R AHTH E 72 0 1 0 1 1 1 0
8140 IJABIEHEXRT 113 0 0 0 0 0 0 0
8150 IRAHTHFK L 84 0 0 0 1 0 0 1
9999 AKX 5T 1687 5 9 4 5 6 6 10
9010 FTHTAKEH 528 11 12 7 12 9 8 8
9020 FTHTEE R 300 8 6 8 5 3 7 4
9030 FTHTH &£ H 863 28 17 26 29 35 28 32
9040 FTHTHEIH 1063 15 18 29 22 18 33 15
9999 FT#XEt 2754 62 53 70 68 65 76 59
9110 SERT T HIE 460 9 9 8 9 9 11 11
9120 $EETH L 244 2 4 1 1 2 2 3
9130 $EHTH & 104 0 3 1 1 0 5 2
9140 $RAT T4t 339 5 5 4 7 6 4 8
9150 $EHT E&& 441 7 12 4 9 13 8 9
9160 SEETERHT 650 14 12 13 15 16 23 19
9170 $RETANH 800 16 12 11 17 18 16 15
9180 SEMETEE 527 5 11 6 6 11 8 12
9190 $ERTZ O 182 3 2 1 4 4 2 8
9200 5 HT FF 5 162 2 0 3 4 4 2 1
9210 $RAT = H 300 6 3 4 7 3 2 8
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TBET (KF)3—K TEET(KF)4 HEH o) 1 2 3 4 5 6 7 8 9
9220 SEMETHH 487 4 10 8 10 11 12 12 14 14 7
9230 ST B M 555 12 6 10 7 7 10 13 12 11 11
9240 $RHTIEE 221 2 5 4 4 4 4 7 3 3 5
9250 FEETALHith 464 7 8 9 9 4 7 13 9 11 8
9999 FERXET 5936 94 102 87 110 112 116 141 129 143 113
9310 H[ZHET:{R 181 1 1 2 2 1 2 0 2 1 3
9320 EFHATAL 184 2 3 2 0 3 3 2 2 2 4
9330 E[ZMET/NE 123 2 0 0 1 2 0 1 2 1 1
9340 R [ZHTRY 330 1 7 6 4 4 7 4 6 8 8
9999 RFHXET 818 6 11 10 7 10 12 7 12 12 16
9410 RETT & 313 3 3 3 3 4 7 2 9 6 8
9420 RHETHHE 216 0 1 0 1 0 2 0 1 0 1
9430 RHETERK 139 1 1 1 1 1 0 0 0 0 0
9440 RETAEF 15 0 0 0 0 0 0 0 0 0 0
9450 RETHER 23 1 0 1 0 0 1 0 0 0 0
9460 RET{—_HE 29 0 0 0 0 0 0 0 1 0 1
9470 RETZER 8 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 53 0 0 0 1 0 0 2 0 1 1
9999 RIXXET 796 5 5 5 6 5 10 4 11 7 11

99999 h& &t 56359 835 936 956 1014 982 1085 1009 1060 1113 1043
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40 LRHET

50 KET—T B
60 AXET_TH
70 KET=TH
80 AT IR AT
90 FEHATIRAT
100 dt D HLET
110 #A;IHT

120 ¥A;TAHT
130 ¥ FHT
140 HEAE BT
150 & FFrHET
9999 K FRXET
510 RETIHT B
520 4EEEMT
530 /\T&HET
540 15 ZMET
550 $TithET
560 = ZEHT
570 EEHT
580 ¥TEAHET
590 ¥ ;EHT
600 ZERET
610 FHT

620 $TERT—T H

9999 /\ & X5t
1010 B A HT
1020 E FHT
1030 o 5 ET
1040 78 /T HT
1050 = HHET
1060 F _EHT
1070 4R HET
1080 & HHET
1090 HEHRT
1100 £ B EHT
1110 #Z1EMT
1120 $21E JTHT
1130 +4HT
1140 FkJRHET

1150 #HET—TH
1160 F/RET=TH

1170 ;E/KHET
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[R1.6.30IR7E 11 TEHT & (K=F) Al F oI A O HHR (S5

THET (KF)a—F {THRHET (KF) 4 10 11 12 13 14 15 16 17 18 19
1260 B & 0 0 0 0 0 0 0 0 0 0
1270 EEHT 1 2 2 1 0 0 1 1 0 4
1280 R4 HT 2 3 2 3 1 4 3 2 1 3
1290 £RHT 3 2 1 1 0 3 2 4 1 1
1300 & ZEHRT 1 2 2 1 1 2 1 2 1 4
1310 RJLHT 0 1 0 2 0 0 2 0 2 1
9999 XH X ET 149 133 129 136 131 113 139 152 108 124
1510 B4 BT 11 18 22 18 15 18 15 15 12 9
1520 HEHITET 11 20 10 12 12 14 9 14 15 16
1530 HEHNTHT 4 7 5 4 5 6 3 7 4 3
1540 K{23FHT 11 8 5 4 8 9 8 12 9 11
9999 HEMMRE X ET 37 53 42 38 40 47 35 48 40 39
2010 = S5 T 8 5 5 2 7 1 3 2 1 1
2020 % &7l 7 4 2 7 4 10 4 3 5 5
2030 ;AT 1 0 0 1 1 0 0 0 0 0
2040 JET—TH 5 4 4 4 3 6 2 4 4 4
2050 ;ET=T H 2 4 0 4 2 5 5 3 7 5
2060 ¥5HH 1 3 1 3 1 1 2 0 1 0
2070 +RET—TH 3 4 3 3 4 4 3 7 5 0
2080 +ETZTH 3 1 2 3 5 4 3 6 3 2
2090 THiAT 37 32 44 30 36 34 37 38 32 27
2100 it HET 5 7 2 5 2 7 3 8 5 4
2110 }EWIETET—T B 1 1 3 5 7 4 7 8 4 1
2120 HEMIETETZT B 7 6 3 9 3 3 2 7 5 6
9999 E B XET 80 71 69 76 75 79 71 86 72 55
2510 #AUEET 70 74 52 56 74 58 61 42 44 23
2520 sk EEHT 28 35 35 29 28 33 36 40 39 34
2530 = /NRHET 5 7 5 6 9 7 6 4 7 6
2540 Fi5HET 4 4 5 5 7 8 7 6 5 3
2550 ;T 0 3 2 3 3 2 7 5 4 4
2560 = ST 18 19 15 14 14 16 14 25 14 15
2570 K &MY 3 1 6 1 1 0 0 2 1 3
9999 WS XET 128 143 120 114 136 124 131 124 114 88
3010 K#THT 19 13 22 19 15 23 21 15 23 15
3020 gL iIHT 17 17 17 18 20 22 22 21 23 15
3030 - EFHT 14 23 14 20 16 22 14 23 19 20
3040 A LHET 0 3 1 2 1 3 1 3 2 2
3050 R HRET 40 48 44 32 52 46 42 36 43 42
3060 B THET 7 6 6 6 7 4 8 12 10 13
3070 & ERERT 4 7 7 8 9 5 7 6 6 8
3080 H AT 11 9 11 6 11 10 4 8 12 10
3090 HHEHT 15 12 7 12 8 6 12 8 11 6
3100 H R FEHET 9 12 4 7 7 8 6 9 14 10
3110 EHAILHET 7 10 5 7 5 5 8 5 10 5
9999 J\FiE#&XEt 143 160 138 137 151 154 145 146 173 146
3510 2R LHT 2 1 0 1 3 3 2 1 7 1
3520 R chf 6 3 4 2 8 8 6 6 3 7
3530 &R THT 10 23 21 10 18 17 21 17 19 13
3540 Z= B KHT 3 6 9 3 7 9 5 8 15 13
3550 AEFHT 13 15 11 11 14 8 17 15 13 15
3560 = T B HET 6 2 7 4 6 3 6 5 2 5
3570 = T FaMT 14 13 8 8 8 16 9 13 15 13
3580 FLIFTHT 3 8 9 5 4 8 13 8 11 8
3590 JEMT 0 0 0 0 0 0 0 0 0 0



9999 S HKXET
4010 41| BT
4020 {ESHT
4030 15HET

4040 = HEAHT
4050 7K /T
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4110 b FFn@T
9999 &I XET
4510 AREE—ZHT
4520 EREE — ZEHT
4530 EREE=FHKAT
4540 EREEIUZEHET
4550 EREE L FHT
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4570 AR ZHHET
4580 EREE)\ZHET
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4600 AREE+ZEHT

4610 EREE+—ZHT
4620 EREE+ —ZEHT

9999 ERERXET
5010 FAF0H HEET
5020 BB F0BAELET
5030 FRFNRI{ZHT
9999 MAFIRXET
5510 b R HET
5520 = HhHET
5530 78 '= M7
5540 T EEHT
5550 EEHT

9999 =R X 5t
6010 [E]MET/ME&
6020 [EMET A
6030 EETA I
6040 EizZEFHET
6050 JI|EHATE
6060 JI|EHATFE
9999 REERXET

6510
6520
6530
6540
6550
6560
6570
6580
6590
6600
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2550 ;T 3 4 5 6 9 2 4 5 7 1
2560 = ST 18 23 20 26 29 20 28 26 25 19
2570 XK ST 6 5 3 2 3 2 0 0 1 2
9999 WS XET 175 147 157 168 164 149 148 150 158 129
3010 K#IHT 26 28 26 23 26 36 30 17 18 33
3020 gL iIHT 19 32 31 26 33 31 26 34 28 24
3030 - EFHT 21 24 27 25 16 26 25 36 29 25
3040 A LHET 5 4 2 3 3 5 3 1 7 6
3050 R HRET 54 32 55 61 65 64 61 54 53 45
3060 B THET 8 7 9 9 5 5 13 8 13 10
3070 HEAEAT 10 8 11 17 12 13 12 9 10 15
3080 H AT 10 12 12 14 12 16 12 14 16 7
3090 HHEHT 20 8 11 16 15 12 12 14 12 13
3100 H R FEHET 8 16 13 12 16 15 19 15 16 14
3110 HedLAET 9 11 11 11 16 11 12 4 9 11
9999 J\FiE#&XEt 190 182 208 217 219 234 225 206 211 203
3510 2R LHT 1 3 0 4 7 6 7 1 2 2
3520 R chf 4 7 8 1 8 12 10 9 11 10
3530 &R THT 25 15 12 22 23 27 24 36 37 29
3540 Z= B KHT 5 13 13 7 10 11 14 12 9 11
3550 AEFHT 21 20 29 20 22 22 18 15 11 15
3560 = T B HET 7 5 9 4 7 9 12 7 3 8
3570 = T FaMT 17 15 12 17 9 16 17 26 18 27
3580 FLIFTHT 12 12 19 21 21 14 13 15 11 10

3590 JEEHT 0 0 0 0 1 0 1 0 1 0



9999 S HKXET
4010 41| BT
4020 {ESHT
4030 15HET

4040 = HEAHT
4050 7K EHT
4060 B2 HHET
4070 Jt/RHET
4080 =;T;HAMT
4090 FREHET
4100 FgFF0AT
4110 b FFn@T
9999 &I XET
4510 AREE—ZHT
4520 EREE — ZEHT
4530 EREE=FHKAT
4540 EREEIUZEHET
4550 EREE L FHT
4560 AR EENEEHET
4570 AR ZHHET
4580 EREE)\ZHET
4590 EREE N FEHT
4600 AREE+ZEHT

4610 EREE+—ZHT
4620 EREE+ —ZEHT

9999 ERERXET
5010 FAF0H HEET
5020 BB F0BAELET
5030 FRFNRI{ZHT
9999 MAFIRXET
5510 b R HET
5520 = HhHET
5530 78 '= M7
5540 T EEHT
5550 EEHT

9999 =R X 5t
6010 [E]MET/ME&
6020 [EMET A
6030 EETA I
6040 EizZEFHET
6050 JI|EHATE
6060 JI|EHATFE
9999 REERXET

6510
6520
6530
6540
6550
6560
6570
6580
6590
6600
6610

B &= A BAET
B &R A KEFHT
B &= A% EHHET
BH&EALLTHT
B &SR AN 2 RET
H R ALELHT
H = ALERIHT
B &= AEHET

H &= ARHET
H & A T
H&EA LFaHT

40
9

A=W PANOOOCGTOT = BN

— N OON—-DIBN—-" 0O OO WNPIENJWOGONDNMNODNDPDEDIEDIROPLALADNWDNN—=—=

41
90
5
1
3
9
10
12
5

w

- O

- —_ 0O - W= =0 P,~P,OCOCLWUPAJIJIW—~~DNW—OPOPPoOoOOGTOW - JOTWDPW—_LWODhMoagdJwh~LNOO

—_— —

42
102

~

—_

N O1

— O

N

- N
O PN PAPE - W ONWOPANOONDIDDOOGI = OCTIONDMNON—=-NOPND»OL—

N
N

O ON—- DI OOOUOMNIJOJO -~ DNO W=

43
106
6

— O
—y

—_—

- W
N WO —-=DEBMNMNMMNMNOOSODOUN—-O - WUNO -~ J1IPhhOPL, - 0L0CTauwh~p,LhbowoooPaad—=DNWVWWANWVWWLW—-"NdPDOOo—=0O0©

XH24.7 9F RERBIRED—IHREICIYNEANZEHAO - HFEK
[R1.6.30IR7E 11 TEHT & (K=F) Al F oI A O HHR (S5

AT (KF)a—F 1TERET (KF) &

44
108
11
1

5

5
11
10

(o]

(=]

wW

—_

- N
O W N = WO WNOOONWWMNMNDMNMNOOOUGIW MO NWDNON

N
N

OO - NOWNOUWW—-=NN-—-=-PIWON

45
117

(=2]

- O

O - O ON-—-DNWPMNOONI—-" = O - DNMNMNODMNMNNPMPONODITUTONd OO WOUN-PAEANMMLWLWO-AEDNAEAEYINNPLDOINOCOODNMADN

—_—

46
116

N ©

NP~ PO O

—_ —-
wWw o anN

(&}
OO A JO WO N—=DBPDDaaONMNMNOWOWNDN

—_— —_

N
N

— S O = NNOOMNMMNMNOWAARPLAIOMNOD

N
~

121

—_
—- O

— O

G OO O OO WNPAMWNWWON—=NdIDAOOTOANNO

w — — — N
O = = © oo o h~O

O = N—-DNN-"DNON—OGOP~PPANO-—=©

48
103

o O

—_

-

o
— R AN OWUUON="BN—=OC—=N—=ONWNNIAMUIONJONOGO-ID

—_— —_

S
o

O - O == N OO BhNOOOUTIIOSW-—=N—

N

()]
N = OO NO0OWRA--DNODOWW—-0O—-=WhLh-—-=-0

—_

w —_ =
WO —=0OMNNH>

NNOOOSO - DNWRAA—-—000L0,~,,~,OorT = —=



XH24.7 9F RERBIRED—IHREICIYNEANZEHAO - HFEK

[R1.6.30IR7E 11 TEHT & (K=F) Al F oI A O HHR (S5

FIRET (KF)a—K {TERHET (KF) 4 40
6620 HZE A FHHET
6630 HER AT FHHT
6640 B & A BT
6650 B &= ASRHET
6660 H Z A RLHET
9999 HEAKKET
7010 Z RIMOHT
7020 — ELAHT
7030 — R FRHNET
7040 — B T KEFHT
7050 — R ¥7 H I HET
9999 — R&XEtT
8011 JRAHTFEERL
8012 YR AHTFEERA
8013 IRAHTFERIL
8021 HRAHTZEKLY
8022 R AHETIEKA
8023 R AHETEKIE
8031 IRAHTH ALY
8032 FABTHAA
8033 IRAHBTH AL
8041 YR AHETHELIFL
8042 R ABTELIFEA
8043 R AHET LRI
8044 IR AHTELIRIZ
8045 IR ABTELIF T
8050 IR AHT A
8060 IR AHTFT#
8070 IJRABTER
8080 Ir AHT &k
8090 IR AHT HiEE
8100 JRAHETH /1%
8110 3RZAHTJI| 5k
8120 YR AHTEE
8130 R AHTH L
8140 IRABTEERT
8150 IRAHTHFK L

—_

—_

WO - -0~ 0000~~~ —-0—-00 000 0O0COCO—-WUN-—-"PdB-"ADP-Ad—0O0OO000—-O0

9999 AKX 5T 2
9010 FTHTAKEH

9020 FTHTH IR 9
9030 FTHTH &£ H 29
9040 F+THTHEH 32
9999 FT#XEt 73
9110 SERT T HIE 7
9120 $EETH L 7
9130 $EHTH & 2
9140 SERT T4 13
9150 $RZET L 55 10
9160 SEETERHT 23
9170 $RATNEA 24
9180 SEMETEE 13
9190 $EETZ O 7
9200 FEHETEFIH 0

9210 SFHET=EH 8

N

—
OO OO 00O —-0O0MNMNMNMNWODODOOO -0 WOO - = =00 —-NO—-DNJOOOO = —

—

wW W
— 01 O

81

42

o

-— 0O 00—~ =-PM~MOO—-~000O—-~-MNO—~O0OO0O—~~wWwWooN—-0o00OPM~MPNMNJOOOO

—_ N — — N OO N W — — —
ONONPDDONIN—OMNMNONO — WOo0L—

— WO -0 - 00—~ W—-—-00000 PO ODWODW—-=-=WOOOOONMOOO = —=Ww

- N
o = A

wW N
— ©

77

11

11

22

26
10

10

S
— OO0 - 00O NWAMR—-LO0O0O0DO0ODO0O -0 WOOON—-=0DODMNMNWNMNOOW—-OO—=0O0

W w = =N
OO N OO

100
12

13
12
20
25
17

10

-y

— W - 000~ N—-"- =N~ 0000000000 MNMNO - - = —=2000—=—=0

W W — — -
O = O N J =

93
17

18
16
17
24
14

S
)

- = - 00~ 00—~ WO 00 —~0 -~ NOOODO—~OMNA~APP~AN—r—~O0COO—=-NO

W — — =
oD oo o O

102
10

13
13
24
15
12

11

NW—-= 00O O—-=MNMNMNMNMNN—-0O -0 = =P OOONMNN—-WOUN~M-LDBDNOOOOO =Y

- N
D W o

S b
o O

105
15

15
15
26

14

S
-~ N OOOOO—-0O0R~AR—-N—=-—= 000D O0OON—=-N=Jd—=Hh—-20W=00 —= —=N ©

=N = == NN W = =N
© - DD T OWWWW—=0OO0 DN o©=

NDBNN--O0OO0O0O -0 === 0OMNN—-0ONOODODODUIO - O BPANNWODOO = —0©

- N
0o 00

L e e —_ O A DN
O WA DBDOWONDMOAOANDN—=O



XH24.7 9F RERBIRED—IHREICIYNEANZEHAO - HFEK
[R1.6.30IR7E 11 TEHT & (K=F) Al F oI A O HHR (S5

TERET (KF)3—F fTIXHET (KF) 4 40 41 42 43 44 45 46 47 48 49
9220 SEMETHH 18 13 12 12 16 11 16 15 11 8
9230 ST B M 22 17 17 6 12 13 17 21 9 13
9240 SEETIE K 5 6 8 5 7 3 6 4 0 9
9250 FEETALHith 17 10 11 16 11 11 15 6 17 12
9999 R X &t 176 162 164 156 175 172 170 163 157 161
9310 E[FZHET:AMR 6 2 4 1 5 2 3 9 2 1
9320 EFHATAL 4 4 1 5 5 8 5 3 6 9
9330 H[SHET/INE 1 1 1 2 5 2 1 3 1 3
9340 R [ZHTRY 6 8 6 6 9 5 4 7 8 8
9999 RFHXET 17 15 12 14 24 17 13 22 17 21
9410 RETT & 13 2 13 7 11 4 2 9 3 7
9420 RHETHHE 2 2 2 2 3 3 5 1 4 4
9430 RHETERK 0 2 1 1 2 4 1 3 3 5
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RETHER 1 0 0 1 0 1 0 0 0 0
9460 RET{—_HE 1 0 0 0 2 0 1 0 1 0
9470 RETZER 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 1 1 0 1 1 1 2 4 1 2
9999 RIXXET 18 7 16 12 19 13 11 17 12 18

99999 h& &t 1436 1476 1495 1541 1551 1574 1590 1529 1534 1506



XH24.7 9F RERBIRED—IHREICIYNEANZEHAO - HFEK
[R1.6.30IR7E 11 TEHT & (K=F) Al F oI A O HHR (S5

THET (KF)a—F {THRHET (KF) 4 50 51 52 53 54 55 56 57 58 59
10 HAT 4 3 4 7 5 5 5 4 5 3
20 EILHET 2 5 2 2 5 1 4 1 4 4
30 @7 4 5 3 4 2 6 7 2 4 6
40 SRET 2 5 0 2 2 0 0 4 1 3
50 KET—T B 9 7 5 2 1 6 8 6 6 9
60 KET=TH 10 3 3 6 2 5 3 3 4 4
70 RET=TH 10 15 5 9 12 12 14 5 7 6
80 ¥ATIHET 1 1 1 2 1 0 1 2 1 1
90 FEHATIRAT 5 3 7 6 3 3 4 6 3 7
100 dt D HLET 10 2 4 1 3 2 3 2 3 5
110 T HT 36 46 36 23 42 32 19 30 25 29
120 #;TAHT 3 6 4 8 2 5 3 3 7 1
130 ¥ FHT 10 9 7 12 10 12 8 6 10 13
140 B [E /AT 1 0 0 0 0 0 0 0 0 0
150 & FFrHET 9 11 9 9 12 12 9 9 2 10
9999 K FRXET 116 121 90 93 102 101 88 83 82 101
510 RETIHT B 6 6 6 7 7 8 7 5 10 11
520 HEEEHT 3 2 2 1 2 0 3 0 9 1
530 /\T&HET 4 3 6 6 9 3 7 6 5 4
540 15 =EHT 14 20 16 8 18 13 19 6 13 9
550 $TithET 14 17 6 11 13 11 6 9 9 6
560 =ZEMT 2 1 4 2 2 4 0 3 0 3
570 EEHT 1 1 0 2 0 1 2 2 0 0
580 ¥TEAHET 2 0 2 5 4 3 3 3 3 2
590 ¥ ;EHT 2 2 2 1 0 2 0 4 0 1
600 ZEi7HT 13 21 14 15 18 15 17 21 12 19
610 FHT 4 4 1 3 4 5 6 4 3 7
620 $TERT—T H 0 0 0 0 0 0 0 0 0 0
9999 J\ K& XEt 65 77 59 61 77 65 70 63 64 63
1010 3 A HT 12 6 5 3 5 9 4 11 5 6
1020 £ FHT 5 7 8 5 11 6 8 11 5 11
1030 & A HT 7 6 10 3 4 8 11 9 1 12
1040 75/ HT 13 7 13 8 15 18 18 17 17 13
1050 & FHHET 27 13 17 16 12 12 18 20 12 16
1060 F _EHT 21 13 14 8 18 17 9 13 12 18
1070 A7 R HET 19 17 20 12 16 12 9 25 19 13
1080 & HHET 24 14 11 10 12 19 15 13 14 8
1090 BHiEHT 21 16 14 14 17 10 17 15 14 23
1100 £ BHEHT 9 9 13 9 12 12 7 19 9 15
1110 #Z1EMT 6 4 2 1 1 5 5 2 2 1
1120 $21E JTHT 3 2 1 0 2 2 2 4 4 4
1130 +4&HT 0 1 0 0 1 0 0 1 0 2
1140 FkJRHET 1 0 0 0 0 1 0 0 0 1
1150 F/RET—T B 7 2 9 4 8 1 8 7 4 5
1160 F/RETZ=T B 5 3 7 5 7 10 6 7 11 9
1170 ;& 7KHET 6 7 3 2 7 4 4 1 4 4
1180 EE&FLHET 12 7 5 3 7 4 8 7 7 6
1190 & F AHET 1 5 10 1 1 4 1 2 4 5
1200 XFHET—TH 1 6 3 4 6 0 2 3 2 5
1210 XFHEIZTH 3 2 6 6 6 3 6 2 4 4
1220 FrHT 4 3 4 5 4 5 2 4 7 1
1230 #XHET 4 5 4 2 7 8 6 3 6 10
1240 B EHT 2 1 3 2 1 3 4 3 4 2
1250 fEEIRT 6 4 6 0 2 6 4 9 7 4
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[R1.6.30IR7E 11 TEHT & (K=F) Al F oI A O HHR (S5

THET (KF)a—F {THRHET (KF) 4 50 51 52 53 54 55 56 57 58 59
1260 B & 2 0 0 1 0 2 2 0 0 1
1270 EEHT 1 3 2 1 4 4 3 6 3 5
1280 FRAHET 5 7 2 2 3 5 4 5 0 2
1290 £RHT 4 6 2 3 5 5 1 4 2 4
1300 & ZEHRT 3 2 2 6 5 4 1 2 4 5
1310 RJLHT 4 2 6 2 0 1 4 6 3 4
9999 XH X ET 238 180 202 138 199 200 189 231 186 219
1510 B4 BT 16 19 15 20 27 24 13 16 13 19
1520 HEHITET 14 22 19 19 19 11 14 18 22 26
1530 HEHNTHT 5 8 11 5 11 11 7 6 9 8
1540 K{23FHT 20 11 15 10 12 21 13 8 15 15
9999 HEMMRE X ET 55 60 60 54 69 67 47 48 59 68
2010 EE&HT 6 6 8 4 5 6 2 3 7 5
2020 % &7l 6 8 6 8 7 8 7 10 7 5
2030 ;AT 1 0 0 0 0 0 1 0 0 0
2040 JET—TH 8 5 3 5 11 5 3 5 4 4
2050 ;ET=T H 3 10 8 3 8 3 2 2 4 5
2060 ¥5HH 1 0 0 1 1 0 1 1 1 2
2070 +RET—TH 8 8 3 6 6 9 2 4 11 8
2080 +ETZTH 5 8 6 3 4 6 4 4 10 2
2090 THiAT 37 32 38 29 47 35 29 44 51 41
2100 dr 4L HT 4 5 3 6 2 8 4 6 4 7
2110 }EWIETET—T B 7 8 8 11 7 11 10 5 10 4
2120 {ENNEBT =T B 5 4 3 7 9 7 10 5 3 4

9999 E B XET 91 94 86 83 107 98 75 89 112 87
2510 #AUEET 48 50 62 36 49 45 40 63 54 52
2520 sk EEHT 52 52 36 34 38 36 34 29 33 40
2530 & /NRHET 14 11 13 10 6 9 6 15 11 16
2540 Fi5HET 13 6 6 14 13 9 16 16 12 14
2550 ;T 4 6 12 8 6 6 6 3 5 8
2560 = ST 20 24 14 31 29 20 18 15 21 15
2570 K &MY 1 2 1 0 1 1 1 0 2 3
9999 WS XET 152 151 144 133 142 126 121 141 138 148
3010 K#THT 23 23 23 24 24 21 29 22 28 19
3020 gL iIHT 28 36 24 25 28 24 26 22 20 25
3030 - EFHT 22 21 32 22 26 29 16 20 20 19
3040 A LHET 6 4 8 2 2 6 1 2 2 5
3050 wy B AT 54 63 55 57 77 41 54 48 65 64
3060 B THET 12 11 9 15 14 10 17 8 16 15
3070 HEAEAT 14 13 12 12 16 10 9 7 9 21
3080 H AT 13 9 10 7 6 13 9 7 11 10
3090 HHEHT 7 8 15 5 7 8 6 16 9 7
3100 H R FEHET 11 16 19 12 9 13 15 8 10 7
3110 HedLAET 8 12 7 13 17 11 15 12 15 16
9999 J\FiE#&XEt 198 216 214 194 226 186 197 172 205 208
3510 2R LHT 0 6 5 4 7 12 10 4 9 5
3520 R chf 9 14 5 1 7 7 8 7 8 11
3530 2R THT 27 23 24 17 30 26 30 29 23 28
3540 Z= B KHT 10 13 7 8 17 8 8 16 14 12
3550 AEFHT 17 18 24 29 15 21 15 22 28 19
3560 = T B HET 3 7 5 10 2 3 5 8 17 8
3570 = T FaMT 13 27 27 17 16 18 9 19 17 15
3580 FLIFTHT 17 8 14 13 12 17 10 15 9 12

3590 JEEHT 0 0 0 0 0 1 0 0 1 0
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XH24.7 9F RERBIRED—IHREICIYNEANZEHAO - HFEK
[R1.6.30IR7E 11 TEHT & (K=F) Al F oI A O HHR (S5

THET (KF)a—F {THRHET (KF) 4 60 61 62 63 64 65 66 67 68 69
10 HAT 7 2 3 3 2 3 3 5 7 6
20 & d-HT 5 5 4 5 5 6 7 6 6 9
30 @7 7 8 4 5 1 8 5 4 6 9
40 SRET 1 4 1 4 7 6 3 2 6 3
50 KET—T B 4 8 10 6 8 5 9 12 12 14
60 KET=TH 2 0 4 6 3 6 6 5 8 3
70 RET=TH 10 4 5 5 4 9 8 4 11 12
80 ¥ATIHET 1 0 2 4 2 1 1 1 0 3
90 FEHATIRAT 1 6 6 8 4 8 4 6 4 12
100 dt D HLET 4 2 3 4 8 7 2 5 4 3
110 T HT 26 32 37 33 31 35 39 27 26 43
120 #;TAHT 6 6 7 6 3 3 8 6 6 7
130 #&FHT 6 8 7 14 5 5 11 13 14 16
140 EAERT 0 0 0 0 0 0 0 0 0 0
150 & FFrHET 10 5 4 8 6 6 9 14 9 9
9999 K FRXET 90 90 97 111 89 108 115 110 119 149
510 RETIHT B 14 7 8 19 14 14 11 23 14 14
520 HEEEHT 3 3 6 3 2 3 1 4 6 3
530 /\T&HET 10 6 6 8 4 10 3 8 10 5
540 15 =EHT 15 9 5 8 11 9 12 7 10 10
550 $TithET 14 13 10 10 11 12 6 14 5 11
560 = M7 1 0 4 3 1 4 2 2 1 1
570 EEHT 3 1 2 4 1 4 2 3 2 1
580 ¥TEAHET 5 2 4 3 4 2 2 8 10 3
590 ¥ ;EHT 2 1 1 2 0 1 3 3 3 3
600 ZEi7HT 18 22 20 32 26 23 28 30 23 19
610 FHT 12 2 7 10 5 6 5 8 6 7
620 $TERT—T H 0 0 0 0 0 0 0 0 0 0
9999 J\ K& XEt 97 66 73 102 79 88 75 110 90 77
1010 3 A HT 3 7 3 7 8 5 1 2 14 8
1020 £ FHT 7 1 5 14 6 17 9 7 13 11
1030 A1 FHT 8 10 8 4 12 5 10 5 11 10
1040 75/ HT 20 15 12 21 17 9 13 15 14 12
1050 & FHHET 17 9 18 23 19 10 19 17 14 20
1060 F _EHT 17 15 21 8 16 11 8 9 18 17
1070 A7 R HET 19 16 17 7 21 13 14 13 15 13
1080 & HHET 7 11 9 11 10 9 14 7 10 9
1090 BHiEHT 24 16 10 15 20 25 26 31 21 30
1100 £ BHEHT 20 11 15 12 15 21 21 10 19 16
1110 f21EHT 5 4 5 5 6 4 2 2 2 4
1120 $21E JTHT 3 3 5 2 1 3 2 1 3 4
1130 +4&HT 1 2 1 0 2 0 1 0 1 3
1140 FkJRHET 0 1 0 0 0 1 0 2 0 0
1150 F/RET—T B 2 6 3 7 4 5 5 4 9 9
1160 F/RETZ=T B 6 4 9 10 4 7 6 6 8 9
1170 ;& 7KHET 5 2 5 1 3 4 2 2 7 6
1180 EE&FLHET 7 11 2 4 7 3 6 6 7 14
1190 & F AHET 2 4 4 8 2 6 8 6 4 10
1200 XFHET—TH 4 3 2 4 3 3 7 4 5 3
1210 XFHEIZTH 4 4 8 6 2 2 6 6 9 8
1220 FrHT 0 2 0 9 4 4 6 4 3 1
1230 #XHET 9 5 6 4 2 6 5 3 2 12
1240 B EHT 3 4 1 5 4 0 1 4 2 4
1250 fEEIRT 1 6 2 3 4 4 1 3 2 4
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THET (KF)a—F {THRHET (KF) 4 60 61 62 63 64 65 66 67 68 69
1260 fEH & 4 0 4 2 3 2 1 1 0 2
1270 EEHT 2 3 5 4 3 2 4 3 3 4
1280 R4 HT 2 2 3 5 7 3 5 8 5 4
1290 £RHT 2 7 7 4 6 3 6 4 3 2
1300 & ZEHRT 4 0 1 3 4 1 2 2 7 2
1310 RJLHT 4 4 0 5 4 1 1 1 3 0

9999 X H MK X5t 212 198 191 213 219 189 212 188 234 251

1510 B4 BT 20 28 16 20 19 23 22 10 34 26
1520 HEHITET 16 15 23 21 26 21 24 19 34 30
1530 HEHITHT 17 11 11 9 13 11 12 9 11 7
1540 K{ZFHT 14 28 11 16 21 23 19 23 21 16
9999 HEMMRE X ET 67 82 61 66 79 78 77 61 100 79
2010 £ ERAT 4 0 5 7 2 4 4 3 6 4
2020 % &7l 9 5 9 4 8 7 8 7 7 4
2030 ;AT 0 4 4 1 1 0 0 0 1 2
2040 :ET—TH 7 5 7 4 4 3 4 6 9 6
2050 ;ET=T H 2 5 3 7 5 6 9 3 9 9
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2070 +RET—TH 10 4 6 7 7 6 6 9 10 10
2080 +ETZTH 3 4 9 8 5 6 6 5 7 7
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2100 dr 4L HT 8 4 4 10 10 7 9 6 4 8
2110 }EWIETET—T B 9 3 6 4 9 7 13 9 12 4
2120 {ENNEBT =T B 13 11 7 10 12 11 7 8 14 7
9999 E B XET 110 89 127 122 124 118 131 125 133 150
2510 #AUEET 68 48 47 44 57 53 50 52 61 65
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2550 ;T 6 9 6 14 7 5 6 10 10 3
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3050 R HRET 49 52 61 57 63 51 55 46 60 72
3060 B THET 19 14 9 13 17 11 16 14 15 23
3070 & ERERT 13 9 18 17 15 10 20 18 17 20
3080 HHHHT 7 9 5 6 9 8 6 7 14 12
3090 HHEHT 8 4 11 2 9 5 11 6 14 1
3100 H R FEHET 14 9 15 16 16 17 17 10 15 12
3110 HedLAET 23 9 10 17 10 13 12 16 19 14
9999 J\FiE#&XEt 205 166 202 198 221 193 213 234 231 253
3510 2R LHT 10 2 4 4 4 6 9 5 11 8
3520 R chf 9 10 10 8 11 14 10 4 12 18
3530 &R THT 30 26 35 28 28 27 34 44 35 28
3540 Z= B KHT 9 5 17 7 11 12 14 11 18 17
3550 AEFHT 31 26 19 32 28 28 28 23 25 30
3560 = T ERAT 6 6 13 17 15 13 13 8 12 10
3570 = T FaMT 27 21 27 24 19 33 28 24 35 33
3580 LI HET 14 19 14 18 20 20 13 14 25 20
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XH24.7 9F RERBIRED—IHREICIYNEANZEHAO - HFEK
[R1.6.30IR7E 11 TEHT & (K=F) Al F oI A O HHR (S5

THET (KF)a—F {THRHET (KF) 4 70 71 72 73 74 75 76 77 78 79
1260 fEH & 3 0 0 3 2 3 0 1 3 0
1270 EEHT 4 4 3 4 3 1 1 2 2 0
1280 FRAHET 5 5 4 2 2 3 3 5 4 8
1290 £RHT 10 6 7 2 4 8 3 5 6 6
1300 & ZEHRT 5 10 1 4 4 4 2 4 5 2
1310 RJLHT 3 4 2 1 3 4 2 1 0 1
9999 XH X ET 271 229 201 131 156 204 174 171 170 154
1510 B4 BT 20 27 19 12 14 27 19 25 22 14
1520 HEHITET 26 31 24 16 22 24 25 14 21 16
1530 HEHITHT 12 15 14 8 8 13 9 8 13 9
1540 K{23FHT 23 16 22 7 16 11 11 16 14 6
9999 HEMMRE X ET 81 89 79 43 60 75 64 63 70 45
2010 £ ERAT 11 11 6 2 3 6 5 4 2 5
2020 % &7l 3 8 6 2 2 7 7 2 7 2
2030 ;AT 6 1 1 0 0 0 2 0 1 0
2040 JET—TH 9 10 7 4 8 4 1 7 3 3
2050 ;ET=T H 6 7 10 5 6 9 4 6 4 3
2060 ¥5HH 4 1 3 1 1 0 4 2 2 0
2070 +RET—TH 7 7 7 6 2 9 4 11 9 2
2080 +ETZTH 9 9 8 5 6 11 2 3 5 6
2090 THiAT 61 76 57 25 41 7 39 44 38 45
2100 it HET 12 5 8 2 2 4 3 3 6 4
2110 }EWIETET—T B 12 5 9 6 5 4 9 6 4 13
2120 {ENNEBT =T B 7 10 16 2 6 7 7 11 1 4
9999 E B XET 147 150 138 60 82 132 87 99 82 87
2510 #AUEET 75 71 54 32 42 53 44 56 41 34
2520 sk EEHT 43 40 25 20 21 17 24 13 11 16
2530 & /NRHET 9 18 7 6 3 5 4 9 9 8
2540 Fi5HET 17 22 26 7 13 16 15 19 16 13
2550 ;T 10 6 5 8 5 11 4 5 5 5
2560 = ST 47 30 36 22 20 25 20 25 28 22
2570 XK ST 8 3 5 4 0 3 1 3 4 2
9999 WS XET 209 190 158 99 104 130 112 130 114 100
3010 K#IHT 34 33 31 22 33 18 22 34 28 29
3020 gL iIHT 33 37 33 16 17 18 15 22 15 16
3030 - EFHT 25 23 25 6 19 13 20 13 17 11
3040 A LHET 5 4 4 2 4 5 6 5 5 2
3050 R HRET 68 59 60 24 35 41 43 43 36 40
3060 B THET 16 12 20 10 15 21 17 20 21 18
3070 & ERERT 13 15 10 8 14 15 13 10 16 15
3080 HhHT 20 10 9 6 3 9 6 12 8 5
3090 H A E AT 10 7 6 7 6 11 12 9 8 5
3100 H R FEHET 10 9 8 10 9 5 7 8 7 5
3110 HedLAET 23 22 13 4 15 10 18 11 11 7
9999 J\FiE#&XEt 257 231 219 115 170 166 179 187 172 153
3510 2R LHT 11 5 8 0 2 8 2 3 8 5
3520 & R T 19 22 10 11 10 12 10 14 3 6
3530 &R THT 37 28 18 18 24 22 22 15 18 10
3540 Z= B KHT 18 15 13 13 5 8 16 10 13 10
3550 AEFHT 36 34 22 18 13 23 22 13 22 12
3560 = T ERAT 14 12 10 9 4 6 7 7 11 5
3570 = T FaMT 36 36 27 21 25 26 24 15 20 17
3580 FLIFTHT 26 20 17 10 15 11 12 11 13 15

3590 JEEHT 1 1 3 0 0 0 0 0 1 0
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